120 p 2.77g/cm

cm 10cm
opt P dnax cm 10cm
1.0 T T T
Sr 100 | | |
| | | P max 0.76 g/cm
e 0.9 g T~~~ T L Ve 88.6 -
° | | | |
= | | | | |
R N > e e
SO I Pt ‘ l l
0.7 | 1 |
sr! 8o N
| il | ) & |
| :\ |
0.6 | il |
| n | |
0.5 ! 11 Wopt ! ! !
70 80 £l 100 110 120 130
o /o, Oy o ©
15000
0.4 0.9
o /o 0.4,0.6,0.8
0.6 o 20kPa
) sin
0.7 Hz
16 T
|
I e R T =1
= 0.4 s |
2| 05[-————-—-————————-——— ===
A 0.6 g |
S o P P T
w g blmooelo e _____ A
® 0.9 * o |
6eFb-—-———-—"—-——-—-—-————— - o_ _ _ _ _ _ _ =
. M |
4 F———-- } 7777777 . - — — — — — — — -
|
| "
2l s tie 12 ::’M’ A AAMMA A Asdsuqua
o A Ll e s sswem o e
1 10 100 1000 10000 100000

0.4 0.9

274-0063 7-24-1



0.5

1.14

38

0.9

60

0.4

120

0.6

0.8

0.8

2.54

110

15000

0.4

100 1000 10000 100000

10

1.36

0.4

80

120

Lambe

80

80

20

18

16

14

12

10

. o !
@ 7] |
\\\\\\\\\\\\ 1

|
|
|
|
I 4 -
|
|
|
< |
=] |
|
|
|
. . . I
o o o o o
E &§ § § B
e O
o
©
o
e}
o
[{e]
o
o

90

12

10

|
|
|
|
|
|
|
Q
o
. T
« I |
I |
I |
3
N
(] |
A P - —
| |
| |
| |
< | |
FS-—--f------
| |
| |
|
. . I L
o o o o o
S 53 =} 53 <
2
ey O
N~
.
o

12

10

pp77 1971



